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QUESTION 1

A company is using SRDF/AR Multi-Hop as a disaster recovery solution. Their primary application requires 27.3 TB on
their primary site. How much storage capacity is required on the third site?

A.Only 27.3TB
B.27.3t054.6 TB
C.Only54.6 TB

D. Greater than 54.6 TB

Correct Answer: C

QUESTION 2

A server is hosting an online application and is experiencing performance issues. Which component of the architectural
layer has the lowest probability of impacting performance?

A. Operating System
B. Server

C. Application

D. Disk

Correct Answer: A

QUESTION 3

FAST.X needs to be configured on a VMAXS array to access LUNs on an XtremIO X-Brick. In addition, existing data on
the LUNSs has to be preserved and made available for host access.

How can this be accomplished?

A. By externally provisioning the LUNs

B. By incorporating the LUNs

C. By zoning the host HBAs to the VMAXS array FE ports
D. By zoning the host HBAs to the VMAX3 array DX ports

Correct Answer: B

QUESTION 4
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A company\\'s regulatory controls require all management accounts used by individuals with access to data stored on
storage systems must comply with password strength and active duration policy.

What should be used to meet this requirement?
A. LDAP-SSL

B. X.509 Certificate

C. Local Unisphere

D. Windows Local

Correct Answer: B

QUESTION 5

With a response time of 2 ms, the utilization is at 50%. Based on Little\\'s Law, what is the new service time if the
utilization increases to 80%7?

A.1ms

B.2ms
C.4ms
D.5ms

Correct Answer: D
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